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I=Zmiri2=1><D+4><{).52+5><{).42=1.8kg-m2 (B)
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12 [Tension=98 kg * 10m/s’= 980 N, A=2 =02 AER
10 m (C)
V=JE’ v= 22270 m/s
A 0.2
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37 [1/2%32%10°% v'=100%10 [ 130-(-30)] *(g'f'
$£#v=1 m/s Note 32mg=32%10"Kg
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The speed in the left section of pipe is
A d, 1,
# v, = v!(A—Z) =v1(d—2)2 =(10mfs)(£) =25m/s
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42 Pt PV =Pt PV &£ %%
=:-pwm+%><1000><102=pz+%><1000>-:2.52
gauge pressure at the left section Ap
Ap=p,-p,, = % x 1000 x (10* -2.5%) = 46875 Pa| = 046[atm]
The condition for the formula of B = “2Lis r<<L. e
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In this promble r=2m; L=2m.
Fy=Fy+Fy=k 2% B
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